
Horizontal multiplication

Math in English

Multiply the following numbers

6 183 =× 10 4 =× 3 3 =×

1 3 =× 8 4 =× 2 4 =×

6 4 =× 7 3 =× 9 4 =×

5 3 =× 9 3 =× 5 4 =×

3 4 =× 4 4 =× 2 3 =×

4 3 =× 7 4 =× 1 4 =×

10 3 =× 0 4 =× 8 3 =×



Horizontal multiplication

Math in English

Multiply the following numbers

6 183 =× 10 404 =× 3 93 =×

1 33 =× 8 324 =× 2 84 =×

6 244 =× 7 213 =× 9 364 =×

5 153 =× 9 273 =× 5 204 =×

3 124 =× 4 164 =× 2 63 =×

4 123 =× 7 284 =× 1 44 =×

10 303 =× 0 04 =× 8 243 =×


